2200 ] x x T x
> 2> Z X = (e} (e} - (e} < Y
<= > 3 3 o 3 I o
I =3 0 Zz > > Cc > o)
g Q32 O — o] e | = o
2373 T3 s 5 3 = @
5=2X ¢ = m > < m P 5
oT = 3 = z ot < z 6
=T na 3 c 5 3 c <
=3 X = X 3 =
e ] 3 S c [y =
O - m = o =
I . (@]
XEod o —
c9m2Z o =
I -3 -~
=4 =3 wn
8 T > = —t
423 5 L
Ta e
Z @ <
O
S 0]
@
3 ®
8 m
Z
o
000 g, 2365 — 27027 — 44 &s3
N
3
8
9.00 — 28368 — 27932 — 446 { L Piipojka ¢.p. 451, 450, DN=200, 0.00 lis
1988 —— e — H —ii ; destova kanalizace
destova kanalizace
DN 300, 282.00
39.00 — 28379 — 27950 — 439 Ll Diipojka &.p. 423,424, DN=200, 0.00 Iis
4600  |— 28382 — 27955 — 437 destova kanalizace
4700 —1—- 28382 - 27955 437 1 g&f&%&gﬁﬁgaw
50.00 — 28383 — 27957 — 436 DN 300, 282.37
75.00 — 28394 — 27972 — 432 Ll biipojka &.p. 422,421, DN=200, 0.00 Iis
destova kanalizace
81.00 — 28397 — 27976 — 431
8200 —— 28397 -— 27976 431 1 1 DN 300, 28228
DN 300, 282.44
98,50 |- 28404 — 27988 — 428 opticky kabel
100.00 S—()— 284.05 — 27987 — 428 DN 50, 283.04
110.00 —  284.05 — 27993 — 422 L piipojka &.p. 419,420, DN=200, 0.00 lis
118.00 - 28004 — 27998 — 416 t destova kanalizace
11900 —— 28404 - 27998 416 g&fg{%&ggéﬁaw
DN 300, 282.53
telefonni kabel
133.00 —  284.03 — 28007 — 407 I DN 50. 283.13
136.00 —  284.03 — 28009 — 405 —Plynovo
DN 50, 283.03
141.00 —  284.03 — 28012 — 401 i
destova kanalizace
144.00 —  284.03 — 28013 — 3.99 DN 300, 282 45
176.00 |- 28400 — 28033 — 377 DO .00
178.00 —  283.99 — 28034 — 376 teleforn’ kabel
181.00 —  283.99 — 28036 — 3.73 DN 50, 283.09
opticky kabel
DN 50, 282.89
191.00 — 28398 — 28042 — 366
o
- 8
N
208.00 — 28387 — 28052 — 345
N
a
3
)
o
c
=
3
°
o|8|%]3
Slal&|"
' ' N
O |k 2 a
8(x|5]s
8 238.00 — 28397 — 28070 — 337 pripojka ¢.p. 375, DN=150, 0.00 I/s
8
258.00 —  284.03 — 28082 — 331 \
263.00 |— 28403 — 28085 — 328 vodovod
265.00 — 284.03 — 280.86 — 327 ll \B%})(\Jlgdzsz.m
268.00 —  284.03 — 28088 — 3.26 DN 80, 282.83
telefonni kabel
DN 50, 283.13
282.00 —  284.04 — 28096 — 3.8 Lmlniipojka &.p. 350, DN=150, 0.00 /s
'o-()-
amoo Pl 28408 — 28109 — 3.6
313.00 |—  284.09 — 28115 — 3.04 L DiipOjka &.p. 346, DN=150, 0.00 I/s
- —_ —_ plynovodni pfipojka
325,00 284.13 281.22 3.01 DN 50, 28313
telefonni kabel
338.00 |— 28418 — 28130 — 298 DN 50. 283.28
342.00 — 28419 — 28132 — 297 I
345,00 — 28417  — 28134 — 2 vodovod
346.50 I— 28416 — 28135 — 2091 " — ge'\ét%%%ggsé?;ace
DN 600, 282.13
35050 — 28414 — 28137 — 286 ;
38200 = 28413 — 28138 = 784 I [ _——plynovod
35250 — - 28412 ST\ 28138 T \-284 7 th{\éf%%mzt%kgéJé
DN 50, 283.23
kabel elektro
DN 50, 283.32
389.00 —  283.89 — 28160 — 239 \
kabel elektro
40000 -_@®— 28391 — 28167 — 234 \ DN 50, 283.01
kabel elektro
408.00 — 28392 — 28172 — 230 \ DN 50, 283.01
telefonni kabel
413.00 — 28393 — 28175 — 228 \ DN 50. 283.03
419.00 — 283.94 — 28178 — 225 t L PFiPOjKa €.p. 467, DN=150, 0.00 I/s
421.00 — 283.94 — 28180 — 224 \ —Lmd PFipOjKa &.p. 461, DN=150, 0.00 I/s
BB & WE = BB =32 - R
' i | ripojka &.p. 468, DN=150, 0.00 I/s
430.00 — 28395 — 28185 — 220 ] pripojka c.
1 pripojka ¢.p. 462, DN=150, 0.00 I/s
435.00 283.96 — 28188 — 218 \
plynovodni pfipojka
44150 — 2839 — 28192 — 214
443.00 — 2839 — 28183 — 2113 i D 2§2-9E 5.0. 470, DN=150, 0.00 I
445.00 l—  283.96 —  281.94 — 212 pripojka ¢.p , DN= S
\ pfipojka ¢€.p. 464, DN=150, 0.00 I/s
451.00 — 283.96 — 281.98 — 2.08 { L PFipOjKa &.p. 471, DN=150, 0.00 I/s
453.00 — 283.96 — 28199 — 207 ‘ ——— Ll piipojka &.p. 465, DN=150, 0.00 I/s
45650 |—  283.96 — 28201 — 205 I gynovogg\z%gqua
45950 - b— = 283.9 — 28203 — 203 I pripojka &.p. 472, DN=150, 0.00 I/s
46200 B 28396 — 28204 — 202 | L DiiPOjKa &.p. 466, DN=150, 0.00 I/s
46300 T 28396 - 28205 ~-—-201 dovod
46500 (re—  283.96 — 28206 — 200 oo 62,46
o , 282.
o
< (@) >IZI< | &2 |N
~~
|2 S HEBEEIE R E
= < Ofm zZ [ x
P m Iull k%] 0|40 h 0
ml3 P 3 312 3 - x
(28 B (@) 0o < 0o
DO | = mf = -
i< |0 |O = O
> | < |zp " W
TEI AV
e FEER
*
oload g HLOUBKA VYKOPU
10 N g 0 ZAVAZNA PROMENNA
0
>0 50 CAST CAST
Z N
Tlogow +
SO
oON" 100+0,1DN
_l=|f N2 o ™
H FAERP= o = m
mz o |0 I a0 0 E§<< O3V T M
1= =9} ‘MW o O
21e 18185009 < nroRam
slci2 2] °a SNSBREZ
. Efr== O TPV =Cc O
slg g2 I° 1ZymE %
Il B C|\C < (@) r N
1 EIE g ¥ T83 o
- . '< O A Ne¢
m X | X o R |
oy} o|Oof - ! oXRc mz o
2l il = ‘g 0 OgE~ g g2(R
IR 7 : cSwuITLC +(e
0o A B=~m "N NS
A o m o &R
0 o <ITH o O Sls - S
N 2 m3x o =2 g & i =
0 =50 + F z>\ R g
< TH2o 0 & ¥ AT
08 45 %’ = 3 N 7 s 5 ]
c o N . . ..
mo9 U Ay
3=<Zg R AR
3 (l}l’ b/ \///\//\ NX/X \///\/ //\///\///\ /\///\///\///\///
~ o \/\\
w N - ~ \Z4
D
()] \/
SAN
(e pEE-TANeNNeALY] -
3 [ R P
122y 25
= 13 A= S\m
i ~
c <
O
>
PP
2082/ B|o
m 3| NN T
x| o |9 |n
<)
2k | B
=lo (Y
o
S

OS VMOLS

9zv "d9 ejlodud

3OS VIOLS

69 “d"9 exlodyd

13HOVS AAZYN

110

111

T39S YM0ZS

112

113

114

H£IDS WIOLS
o

116

3OS WIOLS

=
=]

28z "d9 ejfodud

€9 "d'9 exlodyd

1dONOd
A130dvd
INIZN HOYAOd

13HOVS LSONITYAZA

INIZN

0005

0005

00T

0005

00°LT

0005

00°St

00°6€

00y

0097

000€

S0}IUNWOY BAOIE)SE




